I DATA FOR **PROGRESS SPLI**

From July 18 to 23, 2024, Data for Progress, in partnership with Split Ticket, conducted a survey of 1,571 likely voters pooled from Michigan, Pennsylvania, and Wisconsin using web panel respondents. The sample was weighted to be representative of likely voters across the pooled states by age, gender, education, race, geography, and 2020 recalled vote. The survey was conducted in English. The margin of error associated with the sample size is ±2 percentage points. Results for subgroups of the sample are subject to increased margins of error. Partisanship reflected in tabulations is based on self-identified party affiliation, not partisan registration. The design effect for this survey is 1.33. For more information please visit dataforprogress.org/our-methodology

NB: subgroups with a n-size less than 50 (<50) are not shown on these cross-tabs. We choose not to display N<50 subgroups because the sample is too small to have statistical significance. We did, however, take samples of these subgroups for representational and weighting purposes to accurately reflect the electorate makeup. Some values may not add up to 100 due to rounding.

N=1,571 unless otherwise specified.

[1] Do you have a favorable or unfavorable opinion of the following people or institutions?

— Joe Biden

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Very favorable	21	48	10	2	22	20	16	24	22	20	42	18	28	1	44	8
Somewhat favorable	20	34	25	3	21	18	23	18	18	23	27	19	19	3	36	22
Somewhat unfavorable	14	12	23	11	15	13	22	10	14	14	15	13	21	11	14	31
Very unfavorable	44	6	39	83	40	49	38	48	45	42	15	50	30	85	6	37
Haven't heard enough to say	1	0	3	0	1	0	2	0	1	0	1	1	2	1	0	3
FAVORABLE (TOTAL)	41	82	35	5	43	38	39	42	40	43	69	37	47	4	80	30
UNFAVORABLE (TOTAL)	58	18	62	94	55	62	60	58	59	56	30	63	51	96	20	68
FAVORABLE (NET)	-17	+64	-27	-89	-12	-24	-21	-16	-19	-13	+39	-26	-4	-92	+60	-38
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[2] Do you have a favorable or unfavorable opinion of the following people or institutions?

— Donald Trump

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Very favorable	32	4	19	65	28	36	29	34	34	27	10	36	26	65	3	19
Somewhat favorable	15	5	20	21	15	15	16	15	15	15	16	15	19	23	4	27
Somewhat unfavorable	8	9	12	5	8	8	12	6	8	9	13	7	6	7	8	13
Very unfavorable	44	82	47	7	48	40	43	45	42	49	59	41	49	4	84	38
Haven't heard enough to say	1	0	2	0	1	0	1	1	1	1	1	1	1	0	0	3
FAVORABLE (TOTAL)	47	9	39	86	43	51	45	49	49	42	26	51	45	88	7	46
UNFAVORABLE (TOTAL)	52	91	59	12	56	48	55	51	50	58	72	48	55	11	92	51
FAVORABLE (NET)	-5	-82	-20	+74	-13	+3	-10	-2	-1	-16	-46	+3	-10	+77	-85	-5
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[3] Do you have a favorable or unfavorable opinion of the following people or institutions?

— Kamala Harris

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Very favorable	23	50	13	4	25	21	22	23	22	24	46	20	23	3	45	10
Somewhat favorable	19	32	23	5	21	17	21	18	18	21	27	18	19	4	34	20
Somewhat unfavorable	11	8	19	10	11	12	16	9	10	14	8	11	21	11	11	16
Very unfavorable	43	7	39	80	39	48	35	47	45	40	16	48	30	81	8	38
Haven't heard enough to say	3	3	7	2	4	3	6	2	4	2	3	3	8	2	2	15
FAVORABLE (TOTAL)	42	82	36	9	46	38	43	41	40	45	73	38	42	7	79	30
UNFAVORABLE (TOTAL)	54	15	58	90	50	60	51	56	55	54	24	59	51	92	19	54
FAVORABLE (NET)	-12	+67	-22	-81	-4	-22	-8	-15	-15	-9	+49	-21	-9	-85	+60	-24
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[4] Do you have a favorable or unfavorable opinion of the following people or institutions?

— J.D. Vance

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Very favorable	20	4	10	41	17	23	12	24	21	18	6	23	6	40	4	5
Somewhat favorable	19	7	19	30	18	20	18	19	18	21	13	20	25	31	6	23
Somewhat unfavorable	11	13	15	6	11	11	13	10	11	11	14	10	17	5	16	11
Very unfavorable	27	50	24	6	27	26	24	28	23	33	34	25	23	4	52	10
Haven't heard enough to say	24	26	32	17	28	19	32	19	27	18	34	22	30	19	22	51
FAVORABLE (TOTAL)	39	11	29	71	35	43	30	43	39	39	19	43	31	71	10	28
UNFAVORABLE (TOTAL)	38	63	39	12	38	37	37	38	34	44	48	35	40	9	68	21
FAVORABLE (NET)	+1	-52	-10	+59	-3	+6	-7	+5	+5	-5	-29	+8	-9	+62	-58	+7
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[5] Do you have a favorable or unfavorable opinion of the following people or institutions?

— The Democratic Party

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Very favorable	22	51	8	2	25	18	21	22	23	19	40	20	25	2	43	14
Somewhat favorable	22	36	26	7	23	21	23	21	20	26	34	20	26	6	37	25
Somewhat unfavorable	20	8	33	23	18	21	25	17	18	22	13	20	22	23	14	27
Very unfavorable	34	3	27	68	31	38	26	38	36	32	11	39	22	68	5	24
Haven't heard enough to say	2	2	6	1	3	1	4	2	3	1	2	2	5	1	2	10
FAVORABLE (TOTAL)	44	87	34	9	48	39	44	43	43	45	74	40	51	8	80	39
UNFAVORABLE (TOTAL)	54	11	60	91	49	59	51	55	54	54	24	59	44	91	19	51
FAVORABLE (NET)	-10	+76	-26	-82	-1	-20	-7	-12	-11	-9	+50	-19	+7	-83	+61	-12
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

— The Republican Party

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Very favorable	21	3	6	48	19	24	23	20	22	19	10	24	14	43	3	12
Somewhat favorable	24	7	26	38	22	26	19	26	24	22	15	25	22	40	6	30
Somewhat unfavorable	19	23	28	11	20	18	21	18	20	18	22	17	28	12	24	29
Very unfavorable	34	66	34	3	36	31	33	34	30	40	51	32	35	4	66	19
Haven't heard enough to say	2	2	6	0	3	1	4	1	3	1	3	2	2	0	2	11
FAVORABLE (TOTAL)	45	10	32	86	41	50	42	46	46	41	25	49	36	83	9	42
UNFAVORABLE (TOTAL)	53	89	62	14	56	49	54	52	50	58	73	49	63	16	90	48
FAVORABLE (NET)	-8	-79	-30	+72	-15	+1	-12	-6	-4	-17	-48	0	-27	+67	-81	-6
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[7] Do you have a favorable or unfavorable opinion of the following people or institutions?

— Robert F. Kennedy Jr.

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Very favorable	10	9	12	10	9	10	15	7	10	10	14	9	17	11	8	12
Somewhat favorable	29	20	29	38	27	32	31	28	30	27	27	30	26	39	20	27
Somewhat unfavorable	22	19	22	25	21	24	17	24	21	23	18	23	19	24	21	17
Very unfavorable	24	37	21	13	23	25	17	27	21	28	22	23	27	12	37	13
Haven't heard enough to say	15	16	16	13	20	9	20	12	17	11	18	15	13	13	14	32
FAVORABLE (TOTAL)	39	29	41	48	36	42	46	35	40	37	41	39	43	50	28	39
UNFAVORABLE (TOTAL)	46	56	43	38	44	49	34	51	42	51	40	46	46	36	58	30
FAVORABLE (NET)	-7	-27	-2	+10	-8	-7	+12	-16	-2	-14	+1	-7	-3	+14	-30	+9
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[8] If the November 2024 election for **U.S. president** was being held tomorrow, **and these were the candidates**, who would you vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Democrat Joseph R. Biden	41	84	32	5	44	37	37	43	39	45	68	37	35	2	82	25
Republican Donald J. Trump	47	7	35	91	43	52	43	49	48	44	17	52	38	92	6	37
Independent Robert F. Kennedy Jr.	6	4	16	2	5	6	8	4	6	5	6	5	8	4	6	12
Independent Cornel West	1	1	1	1	1	1	2	0	1	1	2	0	10	0	2	1
Libertarian candidate Chase Oliver	0	0	0	0	0	0	0	0	0	0	0	0	1	0	0	0
Green Party candidate Jill Stein	1	1	3	0	1	1	3	0	1	1	1	1	1	0	1	5
Not sure	4	2	13	1	6	3	6	4	5	3	5	4	6	2	3	20
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[9] If the November 2024 election for **U.S. president** was being held tomorrow, **and these were the candidates**, who would you vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Democrat Joseph R. Biden	45	90	41	5	49	41	47	44	43	50	71	40	52	2	89	37
Republican Donald J. Trump	49	7	43	93	44	56	46	51	51	47	21	55	42	95	8	41
Not sure	5	3	16	2	7	3	7	4	6	3	8	5	5	2	4	22
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[10] If the November 2024 election for **U.S. president** was being held tomorrow, **and these were the candidates**, who would you vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Democrat Kamala D. Harris	40	84	31	3	44	35	39	40	37	45	64	36	35	1	80	28
Republican Donald J. Trump	47	7	36	92	42	53	42	50	49	43	19	52	43	92	6	39
Independent Robert F. Kennedy Jr.	6	3	14	2	6	5	7	5	5	6	7	5	8	4	6	8
Independent Cornel West	1	2	1	0	1	1	3	0	1	1	2	1	8	0	2	1
Libertarian candidate Chase Oliver	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Green Party candidate Jill Stein	1	1	4	0	1	1	2	1	2	0	1	1	1	0	2	5
Not sure	5	3	13	2	6	4	6	5	5	4	6	5	6	2	5	20
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[11] If the November 2024 election for **U.S. president** was being held tomorrow, **and these were the candidates**, who would you vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Democrat Kamala D. Harris	45	91	41	5	50	41	49	43	43	51	74	40	55	2	90	36
Republican Donald J. Trump	50	7	44	93	44	56	45	52	51	46	20	55	40	96	7	43
Not sure	5	2	15	2	6	4	6	4	6	3	7	5	4	2	4	20
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[12] If the November 2024 election for **U.S. president** was being held tomorrow, **and these were the candidates**, who would you vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Republican Donald J. Trump	46	6	36	90	41	53	42	48	49	42	20	52	44	91	6	39
[Named Democratic State Governor]	42	86	33	5	46	37	40	43	39	47	68	37	35	3	82	29
Independent Robert F. Kennedy Jr.	5	3	14	2	5	5	7	4	5	5	5	5	7	4	5	7
Independent Cornel West	1	1	1	0	1	1	2	0	0	1	1	0	7	0	2	0
Libertarian candidate Chase Oliver	0	0	0	0	0	0	0	0	0	0	0	0	1	0	0	0
Green Party candidate Jill Stein	1	0	2	0	1	1	1	0	1	0	1	0	0	0	0	3
Not sure	5	3	14	2	7	4	7	4	6	4	5	5	6	1	5	21
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[13] If the November 2024 election for **U.S. president** was being held tomorrow, **and these were the candidates**, who would you vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	2020	2020 Non- Voter
[Named Democratic State Governor]	47	91	46	6	51	43	51	45	45	52	75	42	54	4	90	41
Republican Donald J. Trump	48	6	41	91	44	53	44	50	50	44	21	53	41	94	6	40
Not sure	5	2	14	2	6	4	5	5	5	4	4	5	6	2	4	19
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[14] If the election for **U.S. Senate** was being held tomorrow, which one of the following candidates are you most likely to vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
[Named Democratic Senate Candidate]	50	93	50	9	53	47	55	48	48	54	79	45	54	10	91	46
[Named Republican Senate Candidate]	42	3	30	85	36	48	34	45	42	41	14	47	37	83	4	27
Don't know	8	4	20	6	11	6	11	7	10	5	8	8	8	7	5	27
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[15] If the election for **U.S. Congress** in your district was held today, which one of the following candidates are you most likely to vote for?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	Non-
The Democrat	47	96	41	4	51	42	53	44	45	50	80	41	58	5	89	43
The Republican	45	2	32	94	40	51	40	48	47	43	16	51	35	89	5	35
Don't know	8	2	26	2	8	7	7	8	8	7	4	8	7	6	6	21
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[16] Which Democratic candidate would make you more enthusiastic to vote in the U.S. Presidential election in November?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Joe Biden	36	46	33	27	33	39	31	38	35	38	42	34	36	28	45	30
Kamala Harris	34	48	30	22	35	32	47	27	33	35	46	32	35	20	46	36
Don't know	31	6	36	51	32	29	22	35	33	27	11	34	29	52	9	34
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[17] Does Joe Biden have the mental fitness to serve another term as president?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Yes, Joe Biden has the mental fitness to serve another term as president	29	57	21	7	31	27	24	31	28	31	51	25	33	6	54	20
No, Joe Biden does not have the mental fitness to serve another term as president	65	38	66	91	63	68	71	62	66	64	43	69	63	91	39	68
Don't know	6	5	13	3	6	5	5	6	7	5	7	6	5	3	7	12
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[18] If Joe Biden were to withdraw, which of the following would you like to see replace him as the Democratic presidential nominee?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Kamala Harris (Vice President of the United States)	34	51	28	21	35	33	36	33	33	37	61	30	44	21	49	30
Gretchen Whitmer (Governor of Michigan)	14	17	15	11	15	14	19	12	16	11	15	14	10	11	16	24
Gavin Newsom (Governor of California)	5	5	7	5	5	6	4	6	4	7	4	6	5	5	6	4
Wes Moore (Governor of Maryland)	3	0	3	5	2	3	2	3	3	3	0	3	2	5	1	0
Josh Shapiro (Governor of Pennsylvania)	18	17	16	20	15	21	21	16	17	19	11	19	24	19	17	16
Pete Buttigieg (Secretary of Transportation)	6	5	6	5	5	6	5	6	5	7	1	6	5	6	6	3
Don't know	20	4	24	33	22	18	12	24	22	17	7	22	11	34	5	23
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[19] Regardless of who you plan to vote for, **who do you think would win** the U.S. Presidential election in November, if it were between the following candidates?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	Biden 2020 Voter	2020 Non- Voter
Republican Donald J. Trump would win	56	17	56	92	51	62	52	58	57	53	27	61	45	94	19	61
Democrat Kamala D. Harris would win	37	76	28	5	39	34	40	35	35	41	69	31	49	3	73	19
Not sure	7	7	16	3	10	5	8	7	8	6	4	8	6	3	8	20
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156

[20] Regardless of who you plan to vote for, **who do you think would win** the U.S. Presidential election in November, if it were between the following candidates?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino	Trump 2020 Voter	2020	2020 Non- Voter
Republican Donald J. Trump would win	58	21	57	92	54	62	57	58	59	55	30	63	47	94	21	63
Democrat Joseph R. Biden would win	35	73	26	5	37	33	35	35	33	39	62	31	47	2	71	17
Not sure	7	6	17	3	9	5	8	7	8	6	7	7	6	4	8	19
Weighted N	1,571	588	361	622	840	731	521	1,050	1,033	538	135	1,268	97	685	710	156